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10.

Ao a=7 @1 sl 2 | A= garR &)
o U aR @) AT N |
Describe expression for position, velocity and

acceleration for 1 -D motion of a particle.
6

T$ & & 1-DIfa & fag Rerfa, 971 3z
@~ & feru sifdraafag &1 qoie & |

OR (3121a1)
What is retrofitting of building ? Describe.

SURT &1 XSHBIET | 8 ? qoiq & |

Explain local method of retrofitting of building.

6
Hq-] & IgHBiET ) e fafsr &1 e

N |
OR (372rd)

Explain global method of retrofitting of building.
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Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (3721a1) () frafafaa & @ <9 @ & yaR o)
Define degree of freedom. S ?I_K”T T 2
(31) P-axTT
Taadar @ & 1 aRafya & | (9) S-axm
(|) ol orex
5. Define viscous damping. () Q-
4
s LENT BT gRERE B | (ii))  Intensity of an earthquake can be measured by.
(a) MKS Scale
(b) MMI Scale
OR(31eraT) (c) Richter Scale
(d) Both (a) and (b)
What is the function of stirrups in beam ?
(i) HDU DI NIdl Bl FHA ATUT ST AhdT
o’ N Revsg &1 o1d a1 2 ? 3
(31) THo® oTHo YHTHT
6. Define inertia force. 4 (@) THoTHodTE o M
N N (&) Raex d9m1
SFSAr el @1 aRETNaG 3R | (8) A () sk (9)
OR (3721aT) (ivy  S-Wave can travel through
(a) Solid
What is intensity of earthquake ? (b) Liquid
(c) Gas
H&HY & dgar @ 2 ? (d) All of the above
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(@) SuRae g8 A 9fg & @ gfg
@) suRss ¢ ¥ qfy & G »A

(@) RerR vgar 2
() 39 9 313 7L

GROUPB

Answer all Five Questions.
ol dfg 9eHl @ SR < |

2.  What is a seismoscope ?

DIy | 2 ?

4x5=20
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H®HY &I AR ST Udh SKIENT B |
(a1 <=ifas aR

(CYRCIERIKIIN

(A) Ax—amafere whrefia R

(2) smafere wfaefiar wR

The loads which vary with time are called as
(a) Static loads

(b) Imposed loads

(c) Dynamic loads

(d) Live loads

TG & 91 =1 g1 dlel IR &I dal
ST 2 |

(a1 =ifas aR

(9) < mAT g3 WX

(&) wrfaefiar WR

(<) g s

Magnitude of an earth represents

(a) Energy released

(b) Acceralation of the ground motion
(c) Damage caused

(d) None of the above
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Uh SHUT Hud Yorrell § SHUT 9o
|ATUT BT 2 |

(a1) fazemu @

@) T >

(d) @R B

(]) @A BT A D

As per IS 1893 : 2002 India is divided into
SeISMIC ZONes ...............

(a) Five

(b) Four

(c) Three

(d) Six

IS 1893 :2002 & ITHR HRA &I HU
a7 2|

(31) ur=

(@) =R

() =

() ©:

The point on the surface of the earth lying
vertically above the focus is called

(a) Hypocentre

(b) Epicentre

(¢) Tsunami

(d) Focal depth

NT6011

x)

(xi)
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(xii)
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fa@ot aama &1 faig &1 @ forg
fEHOT & U A gy fHar <mar 2 |
(31) srgasd warEl

() R &1 STt

(|) o1l

(?) SR & ¥

For RC building which are more than 3
storeys, the minimum grade of concrete to
be used is.

(a) M20

(b) M15

(c) M10

(d) M25

I Haa ot 9 A e wiorem & A
HdbIc BT YAd9 IS Aahd ghar 2 |
(31) M20

@) Mi5

(|) M10

(@) M25

IS 13920 : 1993 deals with the

(a) Estimation of Seismic forces

(b) Ductile detailing of RC building

(c) Strengthening of RC building

(d) Strengthening of masonary building

P.T.O
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11.

g9 & I¢HBET &) ARas fafer &1 aarer
Y |

Explain the structure of the earth.
gedl P AT B ARAT I |
OR (3721d)

What is fault ? Explain different types of fault.

Blec €T 2 | A9 YR & ®iccl &)
AT BN |
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11.

g9 & I¢HBiET &1 ARas fafer &1 aarer
N |

Explain the structure of the earth.
gl BT AT B AT I |
OR (3721dT)

What is fault ? Explain different types of fault.

Blec T 2 | fafFT 4R & Bicel &)
ATET B |
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